FUSES
located

kL]

(®)
TEM PART NO. DESCRIPTION QTY.
38 31-440a  Guide (Hopper) 2
39 B1024-22- Carriage Bolt 10-24 x 4
0411 1-3/8"" LG INCLUDES
W1-10-11  Plain Washer #10 8
W4-10-11  External Lockwasher #10 4
N6-1024-11 Hex Nut 1024 8
40 12-121IND  Power Panel Assembly 1
41 15-053ND  Rack & Guide Assembly 1
(Left Hand) INCLUDES
31-18-2c  Card Rack (Right Hand) 1
54-01-3a  Card Guide 1
42 M632-4-1711 BHMS 6-32 x 1/4'" LG INCLUDES 4
W4-6-11  External Lockwasher #6 4
43 T6-6- Tapping Screw BHTS #6 x 32
17116 3/8" LG
44 31-497b  Armor (Top L.H. Corner) 1
45 31-077b  Hinge Guard I
46 92-056  Hitch Pin 2
47 36-051a  Door Check Rod 1

© (&)
48 31-075a  Door Stop Bracket 1
49 31-494c  Armor Baffle (Top) 1
50 31-692a  Cabinet Vent Louvers 2
51 31-669c  Drill Proofing (Rear) 1
52 31-617b  Drill Proofing (Top) 1
53 31-155a  Upper Door Stop 1
54 31-496b  Armor (Top Right Hand Corner) 1
554 31-495d  Armor Baffle (Right Hand) 1
56 . 63-02-6ND Terminal Block 1
b1 31-368a  Lock Bracket 2
58 15-061IND  Rack & Guide Assembly 1

(Right Hand) INCLUDES

31-18-1c  Card Guide (Right Hand) 1

54-01-3a  Card Guide 1
59 . 12-233ND  Connector Board Assembly 1

See Separate Listing
60 17-049 or Multi-Line or Multi-Coin 1
& 17050 Logic Board Assembly

61 31-500c  Armor Baffle (Bottom) 1
62 14-140b  Coin Chute Assembly 1



Monti
Typewriter
FUSES
located 
Here!

Monti
Typewriter

Monti
Typewriter




